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QUADRATICS

Standard Form
y=ax2+bx+c

You can caledate the axis of symmetry with the folowing
formula: x - 2
2a

You can calculate the vertex with the following formulas
b

2a°

The parabola opens up If a > 0 and opens down If a < 0.

The pardbola has a y-infercept of ¢

The parabola is narrower than the graph of y = X2 if |al > |
and wider if |al <1

Graph a quadratic function in infercept from.

y=-x2+Ux+§

Step | Calculale the axis of symmelry. Use a colored penci fo
draw it on your graph. Label the axis of symmefry.

Step 2 Cdlculate the vertex. Use the value you cdculated in step
o|. Substitute the x-coordinale Info your quadratic equation in
order fo defermine the y-coordnale of your vertex. Graph the
verfex (coordnate pair) on the graph. Your axis of symmetry
should go through fhis point.

Vertex: ( )

Step 3: Creale a fable fo delermine some ofher poinfs on your
parabola. Place the verfex in the middle of the table. Choose o
x-coordinates lower than the vertex and fwo x-coordinates that
are higher than The vertex. Label the y-nfercept
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QUADRATICS

y=-x2+lUx+§5

Take a look at the parent function (y = x?) and your newly

graphed quadratic funcfion. Compare the two functions.

Examine the verfex of each one.

« Did the new parabola shift up/down (vertical franslation).

« Did the new parabola shift left/right (horizonfal
franslation)

* Was the new parabola reflected, or flipped?

* Were the poinfs on the new parabola moved closer
(vertical shrink) or further away (vertical strefch) from
the x-axis?





